3™ Sem./ Civil/ 2021(W)
TH4  Estimation & Cost Evaluation-I

Full Marks: 80 - Time- 3 I—irs

h

1 _Calculate Sal wood wor

Answer ¢ any fi five Questions including Q No.1& 2
Figures in the right hand margin indicates marks

Answer All questions 2x10

State the actual and nominal size of 2 standard modular bricks . . *

(l;/lention the multiplying factor for painting work in case of fu]ly glazed window and flush
oor.

What do you mean by out turn?
When centre line method of estimating is preferred?

Calculate the amount of plastering required for a 5mX 4m room having 30 cm thickness
and 3m height? f :
Define Lead and Lijft.

Calculate the additional length of bent ub'bar for 45* .c;vranked bar?

Write down the units of the following items
i. Honey comb brick work

ii. Collapsible gate

1ii.Stone Masonary

iv.Flooring

Classify labourers according to OPWD.

What is the standard weight of 20mm dia. Bar of 1m length?

Answer Any iSix Questions - ‘ 5x6

Calculate the quantity of dry material for 10m? of cement concrete with proportion 1:3:6 ?

Draw the hierarchy of Engineering department in State Govt.

Calculate the quantities of dry material required for 100sqm ,12mm thick plastermg with

-proportion 1:6 ?

Mention the dutles and responSIbllltles of Assnstant Engmeer

‘chowkhat for door and wmdowlsme of 1 2mX2 1m and
1mX1.5 m? Size of chowkhat'10cmX 8cm .Assume any suitable data.

- Estimate the following items from Flg No 1 by centre line Method. Nz s T 2+

i.Earth work in Excavation

,
ii.Brick work in foundation and plinth 2%
Calculate the dry materials required for 450m? of 25mm thick DPC in cement concrete of
Proportlon ( 1:1.5:3 )?
Calculate the followung items of work from Fig No 2. ' | 5+5

i.Earthwork in excavation in foundation. -

ii, Earth work in filling in plinth..
Calculate the cost of 10cum of brickwork in foundation and pllnth with 20x10x10cm brick with

- cement sand mortar 1:6 7



Estimate the quantities of the following items of a residential building from fig-3

6+4
i First class brick work in foundation and plinth,
il, 2.5 tcm Damp proof coutse,
Estimate the quantities of the following items of a building from fig-4 6+4
iit. 12 mm thick inside plastering In walls {1:6)
iv. Painting doors and windows
Write short notes on : [5X2] 2%x
(a) Plinth area Estimate
(b) Contigency :

(¢)Work charged establishment,
(d) Scrap value and Salvage Value
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RESIDENTIAL BUILDING
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Answer any five Questions includi

: : . udin Lime- 3 Hry
Figures in the right hand margin imgicglzor:a?ki
rurswer All questions

Define Depreciation and Obsolescence.

Vu-lte down the volume and weight of one bag of cement. i
e ‘d‘ :]lst: :;:::r;hc ufrl]ill_ of following items.
[+ m fi i) li . 4
@ ; L)gﬁnc floor area oll":lgbuildin;l) HIS|CTRCERS eracing
. What do you mean by lead and lift?
f. Calculate the standard weight of 20mm diameter bar of | tcrm
~ Y<hat do you mean by sinking fund? . Tt%\ :
What do you mean by AR estimate? ¢ 3
i. Draw the details of measurement form used in estimates,
j. Classify the labours as per OPWD and also menlicfﬁ_lhci;}‘lggs. N
Answer Any Six Questions N J 6x5

rite the duties of Junior Engineer.

alculate the dry materials required for _SOOU‘F of 5cn1§nt plaster (1:6) of 12mm thickness.
Describe briefly about different types of vilues of a'structure.
alculate the cost of construction of 8 m’ ui"mckwork (4 using standard bricks of size
19¢.m*9c.m*9¢.m .Use latest OPWD:rates
Differentiate between Plinth area cspm?!egand cube rate estimate.
Calculate the quantity of waogdwork in frames of 2 doors and 3 windows having
following specifications, A
Size of door = 1.2 %2m ;'sizé of window = 1x1.5m
i owkath =10 c.m=8 c.m. _
‘Su\lf?iif ct;:l;oujﬁ’m_n by.an lysis of rate? Write t]'nc'purp.ofs:o;f :hn:l;f:ns::?g ?:\:j;ag o
@ Prepare the 't';‘;,:_apt‘ity-pstirnatc for the following 1ems

Fig-l. G _ , s
(a?E“'ﬁa rk in excavation in foundaugnr h(13)
W o1ags brickwork in foundation an phntht 157 - . o
A (b),vﬁarc«- theb&‘;f; ‘:gy estimate for the following items from the given drawing n
2N Prep ¢

- .— . :: ' 7
Iz;%:?.stt'aass brickwork in superstructure (1:3) ?

(b) 2.5 cm dpc work (1:2:4? -

S (a) Calculate the dry materials req

:S;)Amtys@thc rate of materials and labours as per OPWD for Q 4 (a). 5
Wirite the role of following persons. 5
®© (iiniviﬁpnpl--cbqunmm

(b) Executive engineer I :;0
Deséribe bricfly about different types © e
‘) . )

N

uired for the quantity of items calculated for Q
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